Beginning with Logs                                               Name ____________________________
	1.  10x = 100

2.   10x  = 1000

3.  10x = 50

4.  10x = 200

5.    10x = 157

6.  3x  = 27

  Rewrite   log(27)/log(3)    

  Answer _________

6.  5x  = 125

  Rewrite   ______________   

  Answer _________

7.  4x  = 16

  Rewrite   ______________   

  Answer _________

8.  2x  = 64

  Rewrite   ______________   

  Answer _________

9.  3x  = 243

  Rewrite   ______________   

  Answer _________

10.  2x  = 20

  Rewrite   ______________   

  Answer _________

11.  4x  = 30

  Rewrite   ______________   

  Answer _________

12.  7x  = 400

  Rewrite   ______________   

  Answer _________

13.  2x  = 100

  Rewrite   ______________   

  Answer _________

12.  6x  = 1000

  Rewrite   ______________   

  Answer _________
	13.  2x  = 1000

  Rewrite   ______________   

  Answer _________

14.  7x  = 125

  Rewrite   ______________   

  Answer _________

15.  9x  = 300

  Rewrite   ______________   

  Answer _________

16.  4x  = 700

  Rewrite   ______________   

  Answer _________

17.  5x  = 500

  Rewrite   ______________   

  Answer _________

18.  10x  = 125

  Rewrite   ______________   

  Answer _________

19.  2x  = 10000
  Rewrite   ______________   

  Answer _________

20.  10x  = 1000

  Rewrite   ______________   

  Answer _________

21.  6x  = 300

  Rewrite   ______________   

  Answer _________

22.  5x  = 15

  Rewrite   ______________   

  Answer _________

23.  10x  = 3

  Rewrite   ______________   

  Answer _________

24.  7x  = 3

  Rewrite   ______________   

  Answer _________


